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3H E—HHH A K B & F
J—)LE-LYyE-EIDE
g ff K & ouT IN |TOTAL|HDCP| NET
& MEEB= 38 |3 | 73| 6 | 67
LB x= 39 | 34 | 73| 4 | 69
3 fif b B 41 | 42 | 83 | 13 | 70
4 1 I IE E= 41 | 40 | 81 | 9 | 72
5 fif wh &— 42 | 40 | 82 | 10 | 72
B:G g 39 | 34 | 73
3H E—HHH A K B & F
TI— KT AL FDER
g ff K A ouT IN |TOTAL|HDCP| NET
& =H —# 42 | 40 | 82 | 11| M
LB REA 42 | 40 | 82 | 10 | 72
3 WRE = 40 | 42 | 82| 9 | 73
4 f b AN AN 42 | 42 | 84 | 10 | 74
5 fif 5 R 39 | 42 | 81 | 6 75
B-G A R- 39 | 42 | 81
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g ff K & ouT IN [TOTAL|HDCP| NET
&= B KT EE 4 | 41 | 85 | 15 | 70
BB TE RE 47 | 43 | 90 | 20 | 70
3 i BR i 47 | 47 | 94 | 24 | 70
4 fi Hp E=F 48 | 44 | 92 | 19 | 73
5 {i Hx E 47 | 42 | 89 | 15 | 74
B-G AT B 44 | 41 | 85
3 E—H¥#% B K Bk £ F

TI—-KTAL FDER
IE iz K & ouT IN |TOTAL|HDCP| NET
&= B =R e 49 | 49 | 98 | 25 | 73
LB FiT &8 46 | 43 | 89 | 14 | 75
3 fi %k @7 47 | 44 | 91 | 16 | 75
4 1 #E KEB 44 | 48 | 92 | 16 | 76
5 fI i3 FRU 47 | 45 | 92 | 15 | 77
B:G FiT &8 46 | 43 | 89
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